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. Contestants may work with the team of people sit-

ting with them.

. An integral will be shown on this screen. While the
music plays, contestants will work on the integral.
Teams must turn in their solutions in the cookie jar

by the end of the song.

. Put your team name at the top of the page with your

solution for each integral.

. Once you have turned in your answer, you may eat,

drink, talk, sing but you may not have your answer

back!

. Your team will be awarded points for each correct
answer the judges receive. Prizes will be awarded to
the teams with the top three scores at the end of the
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(1 point )

2

3r—1

/:1: o dx, where x < —1.
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( 2 points )

sin (2)
/ 22 dx, where x > 0.
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(3 points )

/e cos (3x) dzx.



(1 point )
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( 2 points )

9
r—2xlnx

d
/ * where x > e.
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(3 points )

a) /62 In3 du;

Ip 4 T
b) / x+3dx, where x < 0;

c)/ ((cos® x + sec” z) — (tan’z — sin’x)) dx,

where x € (—g, g) .
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HALF TIME
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( 10 points )

Put the integrals below in order from least to greatest:

1
(A) / (sin®z + 4sinx cosz + cos” x) da;
~1

(B) /_ (z+1)%(x — 1) da;

1

() / (=2 4 2Ja]) da;

1

(D) /_ 11 5V a2 du;

1 CC2007 s Sin2009 T
(E) 2008 de.
-1 et + 1
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( 2 points )

/ dx
e~ 4+ 94 et
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( 4 points )

dx
., where x € (—5,1).
/ vV—22—4dx+5 ( )
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( 6 points )

20% — Tx — 2 ]
/2:1:2 I dr,  wherex < 3.
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( 2 points )

/1n2(:1:) dr,  where x > 0.
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( 4 points )

/(Sec:l: —sinz)e™ " dx, where z € (—%,%).
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( 6 points )

@
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THANK YOU
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